1290 Super Adventure S, orange 2020 <2020><EU><F9903T4>

SIDE TRIM
53453
Pos Part Number Description Additional Text Quantity
1 60708051033KCA Fuel tank spoiler right 1.00
2 6070810300033 Fairing right 1.00
3 6070810201033 Maintenance cover 1.00
4 60708103060 Cover for right intake port 1.00
5 6070810305033 Air intake right 1.00
6 60708126000 Inner cover right 1.00
7 0081050121 EJOT PT screw K50x12 only for US and SixDays 10.00
8 54603048100 clip nut M6 2.00
9 69008021160 special screw M5x12 9.00
10 60708125000 Inner cover left 1.00
11 69008021080 clip nut M5 10.00




12 60708102060 Cover for left intake port 1.00
13 6070810205033 Air intake left 1.00
14 6070810200033 Fairing left 1.00
15 60708050033KCA Fuel tank spoiler left 1.00
16 6070604403333 Cover intake duct le. cpl. 1.00
17 61608098000 Decal 3D "KTM" 17 2.00
19 6070604503333 Cover intake duct right cpl. 1.00
20 60708025030 Special screw M5x17 TX30 2.00
21 0081050161 EJOT PT SCREW K50X16 1451 4.00
22 0025060256 HH collar screw M6x25 TX30 2.00
23 60708050010 Bushing 2.00
24 60308042000EBB Side fairing right 1.00
25 6070804400033 REAR SIDE COVER RIGHT BLACK 1.00
26 6070804300033 REAR SIDE COVER LEFT BLACK 1.00
27 60308041000EBB Side fairing left 1.00
28 83008100020 SCREW M6X20X5,5 2.00




